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= 108,250
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HASEZS A 244,783 227,940 16,843
Al 171,348
- 73,435
2322 AME FA 244,783 227,940 16,843
Al 171,348
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101 @124l 231,283 212,940 18,343
Al 161,898
- 69,385
M4 IR Z22NSES 231,283 212,940 18,343
OS32ZMYARY(BUHEEHSSELE)
231,283,000 231,283
Al 161,898
- 69,385
201 Let24d] 3,500 5,000 A 1,500
Al 2,450
- 1,050
01 At 2teltl 3,500 5,000 21,500
Ogt+=&H| 3,500
— 332 =AM >8I 3,500,000& 3,500
Al 2,450
- 1,050
206 M= Hl 10,000 10,000 0
Al 7,000
T 3,000
01 M2 4l 10,000 10,000 0
OZ232Z2MI == I 10,000, 000& 10,000
Al 7,000
T 3,000
2 el E= 952,036 775,805 176,231
= 108,250
Xl 533,750
Al 276,198
- 33,838
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= 108,250
X 422,560
Al 187,246
02 IZtE M AHE X 718,056 515,692 202,364
OMIIEIIGdSHML XA (LRCIEE)
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Xl 422,560
Al 140,853
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Al 36,964
OABIEIILSHALX (X ASEHAIRH])
10,000, 000& 10,000
= 7,000
Al 3,000
OAMABE= 21,429,000 21,429
= 15,000
Al 6,429
X2 BE ML K el A 152,380 168,513 A 16,133
Xl 76,190
Al 60,952
- 15,238
101 @124l 141,280 156,000 A 14,720
Xl 70,640
Al 56,512
- 14,128
04 JIZHHZ2Z 2RSS E =+ 141,280 156,000 A14,720
ONIEBSHALL (CHEHZ ST
141,280, 000& 141,280
Xl 70,640
Al 56,512
- 14,128
201 Let24dy| 3,000 4,000 A 1,000
Xl 1,500
Al 1,200
- 300
01 At 22l 3,000 4,000 A 1,000
Oget==EH| 1,560
—NEdSssHLXel A ==EH  1,560,000& 1,560
Xl 780
Al 624
- 156
Ogxtz 1,440
— M==AY E 120,000 = 1CH=12& 1,440




M ZHY

2
0z

LS =

Hm: 08 57 2
¢ 2l HE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 720
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Al 3,040
- 760
01 M= 4l 7,600 8,013 A413
OXNEZSHL AL =T THZHI
7,600,000& 7,600
Xl 3,800
Al 3,040
T 760
305 tHal=s 500 500 0
Xl 250
Al 200
- 50
01 Hia=S 500 500 0
OXNGZSSHLeIAILSZ=EEoHEH &S
500,000& 500
Xl 250
Al 200
T 50
OS2I Sd A 70,000 90,000 A20,000
X 35,000
Al 28,000
- 7,000
307 glz2tol & 50,000 60,000 A 10,000
X 25,000
Al 20,000
- 5,000
02 It MAHE X 50,000 60,000 A 10,000
ONtSIISAIS XA 50,000,000& 50,000
Xl 25,000
Al 20,000
- 5,000
402 RIZ2EXt20l ™ 20,000 30,000 A 10,000
Xl 10,000
Al 8,000
- 2,000
01 A TtEAEEX 20,000 30,000 A 10,000
OltSIIgASEIIsSEZ 20,000,000& 20,000
Xl 10,000
Al 8,000
T 2,000
Y Xl EE 11,600 1,600 10,000
201 £B-2dH| 11,600 1,600 10,000
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OF - dEgdXelHser&3 = 10,000,000& 10,000
S - S FHHE2AUG 1,025,941 1,179,646 A 153,705
= 187,568
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Al 267,860
- 382,578
SEEH M 68,000 105,000 A 37,000
Al 16,000
- 52,000
SHMAD|BEAI A HHI ALY 68,000 105,000 A 37,000
Al 16,000
- 52,000
401 A& HI L 204 HI 68,000 105,000 A 37,000
Al 16,000
- 52,000
01 Al&H| 68,000 105,000 A 37,000
OXSHI=2 A | B At 32,000,000 32,000
Al 16,000
- 16,000
O=gMAD|BEAIE £=2| ] 20,000,000 20,000
OAZXN(HHEZ)ERIL=LE 2 A
5,000,000& 5,000
OXSHEHHIZ2A 11,000,000 11,000
SsIIHAEXNH 539,071 631,443 N92,372
= 171,216
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Al 159,439
- 204,616
E=PIPNEE! 13,556 16,478 N 2,922
Al 7,213
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301 Bt A= 13,156 16,078 N2,922
Al 7,013
- 6,143
02 et=dsex=2 2,900 2,900 0
O=sdelEsi2Rd 2,900,000& 2,900
Al 1,885
5 1,015
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Al 1,303
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02 QIAHFAAFEX 400 400 0
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A A H WS 25} 43,947 50,062 26,115
Al 21,974
- 21,973
301 L2 A= 26,201 30,812 24,611
Al 13,101
- 13,100
1MIIEBESS 26,201 30,812 24,611
OLNSHHMACIEEHEHEZESS 23,926,000 23,926
Al 11,963
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OZANsg=ZTHEZbI 13,055,000& 13,055
Al 9,139
- 3,916
OZAIQ AT & & X & (KR E5,000)
25,0002 *800H 20,000
Al 12,000
- 8,000
402 RI2FXt20l ™ 4,500 4,500 0
Al 2,500
T 2,000
01 A=A EX 4,500 4,500 0
OZANsgHEOINEsEXEA
2,500, 000& *2JH 2~ *90% 4,500
Al 2,500
- 2,000
SR E AL 2,500 2,000 500
= 1,000
Al 750
T 750
301 et A= 2,500 2,000 500
= 1,000
Al 750
T 750
MIIEBE4d3 2,500 2,000 500
Oz edsAMAA 5,000,000& x50% 2,500
= 1,000
Al 750
- 750
Jdsgdeisd 20,960 20,960 0
201 Let24dH] 960 960 0
01 At 22l 960 960 0
Oget=gH| 960
—ERSYENERSHE
1,200,000& »80%< & 2> 960
307 glz2tol & 20,000 20,000 0
04 QIZFHALAIH 2 = 20,000 20,000 0
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= 13,442
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OZdA=sHAZIZ(BAER) 32,949,000 32,949
307 gl2tol & 1,500 2,264 AT64
= 1,050
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02 It M AHE X 1,500 2,264 AT764
O3S H& S| 1,500, 000& 1,500
= 1,050
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- 225
NLgEX322 3,800 0 3,800
307 glz2tol & 3,800 0 3,800
02 QB HAANHEEX 3,800 0 3,800
OsZXNENHE S HE 2R H AL XA
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O=sHBYAUAS S| ME MR H AL HI XA
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SHE a2 UEsI HEH 24 2,400 0 2,400
= 1,200
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301 L2 L= 2,400 0 2,400
= 1,200
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- 600
11IIEHEAS 2,400 0 2,400
Ostts22USsHAT L2 4H XA
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= 1,200
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| 179,955
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Al 175
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Al 75
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402 RI2HXt20l ™ 19,860 19,860 0
Al 9,930
T 9,930
01 A TtEAEEX 19,860 19,860 0
Og=s=sotst= A& 7,000& *4,300kg*60% 18,060
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T 9,030
ON=EEaXMelEaSLXNI 100,000 *30E *60% 1,800
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T 900
SN2R A 299,925 299,925 0
J| 179,955
Al 59,985
- 59,985
301 et a = 299,925 299,925 0
J| 179,955
Al 59,985
T 59,985
MIEEd3 299,925 299,925 0
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Al 2,520
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01 It 2 AL E X 5,040 24,720 A 19,680
ONgeEES2LXH 70,0003 *60CH *60% 2,520
Al 1,260
- 1,260
OXNsHLIPALRS 2,100,000& »2CH x60% 2,520
Al 1,260
- 1,260
SMNHSEMNE 13,128 13,127 1
= 6,534
Al 3,267
- 3,327
201 £Br2dH| 119 119 0
= 30
Al 15
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02 =224l 119 119 0
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9,900& 10«12 119
= 30
Al 15
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206 M= Hl 9,088 9,088 0
Al 3,000
- 6,088
01 =4l 9,088 9,088 0
OSMEIE 1,888
— &z 6,000 x602! «33| *B0%<E 2> 864
— &= 9,500 x203 23| x80%< & &> 304
—YHES 5,000& «60= It 32| *80%<E 2> 720
O SLIAZTLHE LY 300,000 *4F 1,200
OFAL=ASI 6,2503 805 123 6,000
Al 3,000
- 3,000
301 et A3z 16,300 14,800 1,500
= 960
Al 7,670
- 7,670
1MIIEBESS 16,300 14,800 1,500
OB=4detig sl 7,000& x1005% 700
= 210
Al 245
- 245
OZHHEUEE S A= 2,000& x1,0005 2,000
Al 1,000
- 1,000
O3z (12) 800,000& x121«12& 9,600
Al 4,800
T 4,800
OMGHEI=A2A(HHZ )M IR
250,000 105 2,500
Al 1,250
T 1,250
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OFMENEESA=HI 5,000 x300% 1,500
= 750
Al 375
- 375
IISUHAANA(PHA) 1,225 1,225 0
= 858
Al 184
5 183
206 M = dl 1,225 1,225 0
= 858
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- 183
01 X2 bl 1,225 1,225 0
OFH A AL 1,750 7004 1,225
= 858
Al 184
- 183
SRIIsSsE2s 2 21,850 22,410 A 560
201 gBt2Ad| 400 2,260 A 1,860
01 AP 2t 2| bl 400 2,260 A 1,860
O=s=sSEM£+=2H 500,000 *80%<& 2> 400
301 et A= 21,450 20,150 1,300
11 JIEtE A= 21,450 20,150 1,300
ORJII=s22S5 22 (ZEHES) 33,000&*350% 11,550
OZDA0INHM =&AL 80,000 1205 9,600
OSZ2EEMAI=H| 300
— LHEE2HAHZ X Al =H| 10,0002 x 155 150
— QASEZSAHOIEXEND 3,000 x505 150
IIEAYEZ2EANY 8,360 8,942 AN 5B82
J| 4,180
Al 2,090
- 2,090
301 et A= 8,360 8,942 A B82
J| 4,180
Al 2,090
- 2,090
11 J|EtE A2 8,360 8,942 A B82
OBsYHH2IH X & 8,360,000 8,360
J| 4,180
Al 2,090
- 2,090
MAYHEEAIZXE 10,000 10,000 0
= 8,000
Al 1,000
- 1,000
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301 Bt A= 10,000 10,000 0
= 8,000
Al 1,000
- 1,000
11 JIEtE A= 10,000 10,000 0
Oadaazid 2,500,000 45 10,000
= 8,000
Al 1,000
5 1,000
NESADS4E=SI|EtE 7,520 2,940 4,580
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SA)gsH NS 7,520 2,940 4,580
201 LBt 5,920 1,540 4,380
01 AP 22| H| 5,920 1,540 4,380
Ogbt4=24| 1,520
—SA)SEANBEEHZZ XM
3,000 *200E x23| *80%< & 2> 960
— S84 HE
70,000 x5l A x23| x80%< & 24> 560
o2d44 3,440
MBI BRI KRN RER G A ST
70,000 *7H *6 3] 2,940
— S| GABHEHG 2 AIE
50,000 521 %23 500
O3&H| 960
—EAJYSHNAYTHESYRET
6,000 x221 x 100 L *80%< & 2> 960
202 044 1,600 1,400 200
01 2L I 1,600 1,400 200
OZ2)USHNALTHS2YRET
20,000& #2021 x50 x80%< & 2> 1,600
NS4RS 270,360 120,105 150,255
= 87,000
Al 21,750
- 161,610
EDIE NE3M 4 270,360 120,105 150,255
= 87,000
Al 21,750
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NEHHEA S 105,501 90,506 14,995
201 LBt ]| 6,733 5,946 787
01 AP 22| H| 6,733 5,946 787
Ogbt4=24| 2,125
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01 2L Hl 7,168 6, 160 1,008
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